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Write the following information in the first page of Answer Script before starting 

answer 

ODD SEMESTER EXAMINATION:  2020-21 

Exam ID Number_____________________________ 

 Course___________________________    Semester_______________________ 

Paper Code_________________Paper Title__________________________________ 

Type of Exam: _____________________________ (Regular/Back/Improvement) 

 

Important Instruction for students:  

1. Student should write objective and descriptive answer on plain white paper.  
2. Give page number in each page starting from 1st page. 
3. After completion of examination, Scan all pages, convert into a single PDF, 

rename the file with Class Roll No. (2019MBA15) and upload to the Google 
classroom as attachment.  

4. Exam timing from 10am – 1pm (for morning shift).  
5. Question Paper will be uploaded before 10 mins from the schedule time.  
6. Additional 20 mins time will be given for scanning and uploading the single 

PDF file.  
7. Student will be marked as ABSENT if failed to upload the PDF answer script 

due to any reason. 
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REV-01                                                                                                                                                           2021/03 

MEC/45 /50 

MA ECONOMICS 
THIRD SEMESTER 

DEMOGRAPHY 

 MEC-304D 

 (Use separate answer scripts for Objective & Descriptive) 

Duration :  3 hrs.                                                                                                        Full Marks:  70 

PART-A : Objective 

Time : 20 min.                                                                                                                      Marks : 20 
 

Choose the correct answer from the following:                                                              1X20=20 

1. Which of the following is not a consequence of population growth? 

 a. Urbanization b. Deforestation 

 c. Global Warming d. Sustainable Development 
 
2. The migrant entering the domestic country from a foreign country is called 

 a. Immigrant b. Emigrant 

 c. In-migrant d. Out-migrant 

 
3. One of the causes of declining birth rates is  

 
a. Poverty b. Modernization 

 c. Unemployment d. Global warming 
 
4. What is the basis of demographic dividend? 

 a. Place difference b. Height difference 
 c. Age difference d. Literacy difference 

 
5. Which of the following is not a cause of decline in mortality rates? 

 a. Education b. Health facilities 
 c. Poverty d. Urbanization 

 
6. Population growth has three components besides 

 a. Birth b. Death 

 c. Migration d. Morbidity 

 
7. Which of the following is the best indicator of health status of a community? 

 a. Birth rate b. Infant Mortality Rate 

 c. Crude Death Rate d. None of the above 

 
8. Which is not  a natural cause of fertility control? 
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 a. Earthquake b. Famine 

 c. Flood d. Birth control 

 
9. Sudden unprecedented fertility rise after World War II (1946-1964) was attributed to 

 a. Baby boom b. Age heaping 

 c. Baby Bust Syndrome d. None 

 
10. Which of the factors do not contribute to migration of population? 

 a. Social Factors b. Economic factors 

 c. Political factors d. Leisure factors 

 
11. The Crude Death Rate is expressed per 

 a. 100 b. 1,000 

 c. 1,00,000 d. 10,00,000 

 
12. The problem with General Fertility Rate is it is not 

 a. Age specific b. Gender Specific 

 c. Place Specific d. Height Specific 
 

13. Population explosion is not caused due to 

 a. Increasing birth rate b. Declining death rate 

 c. Increasing migration d. Increasing literacy levels 
 

14. One of the negative consequences of urbanization is 

 a. Economic development b. Modernization 

 c. Deforestation d. Better facilities 
 

15. Rural-urban migration is caused mainly due to 

 a. Economic factors b. Social factors 
 c. Environmental factors d. Political factors 

 
16. Which of the following is not a cause of infant mortality? 

 a. Improper nutrition b. Poverty 
 c. Lack of health facilities d. Bad weather conditions 

 
17. The place from which migration takes place is called as the place of 

 a. Origin b. Destination 

 c. Birth d. Lineage 

 
18. Stable population means a population with unchanging or fixed 

 a. Growth rate b. Age composition 

 c. Growth rate and age composition d. Death rate 
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19. A mega city has a population of more than 

 a. 1 lakh b. 10 lakh 

 c. 1 million d. 10 million 
 

20. The method used by the government of India for calculating population  data of the 
country is 

 a. Census b. Sample 

 c. Observation d. Focus group 
 

 

==***== 
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==***== 

[ PART-B : Descriptive ] 
Duration:  2 Hrs. 40 Mins.                                                                                                   Marks: 50 

[ Answer question no. One (1) & any four (4) from the rest ] 

1. Discuss the components of population growth and their inter-
dependence.  

10 

 
2. a. Discuss the different types of factors which affect migration in a 

country. 
b. Discuss the problems arising due to increasing migration between 
India and Bangladesh. 

                            
5+5=10 

 
3. a. What is mortality? What are the factors causing decline in 

mortality in recent past? 
b. What are the trends in mortality rates in the advanced and less 
developed countries? 

  2+4+3=10 

 
4. a. Explain the components used in life table construction. 

b. Discuss one method of population projection.  
       5+5=10 

 
5. a. Discuss the concept of demographic dividend with suitable 

examples. 
b. What are the restrictions on international migration? 

5+5=10 

 
6. a. What are the views of Enke on Population growth and economic 

development? 
b. What are the various sources of population data? 

   5+5=10 

 
7. a. Discuss the meaning and scope of demography. 

b. What are the views of Simon on population growth? 
   5+5=10 

 
8. 
 
 

a. What are the requirements of mega cities in developing countries? 
b. Does urbanization contribute to declining fertility? Discuss. 

   5+5=10 

 


